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intermediate representation(IR): FEMAZERT

ER

. BEUERE (constant propagation)

. [BiEF{E#E (value range propagation)

BB EMIERUERE (sparse conditional constant propagation)
. Hb&TARVFERRY (dead code elimination)

. &iE#ERE (global value numbering)

. BBREBBITTR (partial redundancy elimination)

.BBEITR (strength reduction)

. BfF2E0EL (register allocation)
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"title": {

"text": "Graph f&jEERI"
2
"tooltip": {},
"animationDurationUpdate": 1500,
"animationEasingUpdate": "quinticInOut",
"series": [{

"type": "graph”,

"layout”: "none",

"symbolSize": 50,

"roam": true,

"label": {

"show": true

2

"edgeSymbol": ["circle", "arrow"],
"edgeSymbolSize": [4, 10],
"edgelabel”: {

"fontSize": 20

b
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"data": [{
"name": "x=5;x=x-3;x<3?",
"x": 400,
"y
b
"name": "y=x*2;w=y",
"x": 300,
"y": 100
3 A
"name": "y=x-3",
"x": 500,
"y": 100
3o
"name”: "w=x-y,z=x+y",
"x": 400,
"y": 200
1,
"links": [{
"source": "x=5;x=x-3;x<37",
"target": "y=x*2;,w=y"
3 A
"source": "x=5;,x=x-3;x<3?",
"target": "y=x-3"
b A
"source": "y=x-3",
"target”: "w=x-y;z=x+y"
3 A
"source": "y=x*2;w=y",
"target”: "w=x-y;z=x+y"
,
"lineStyle": {
"opacity": 0.9,
"width": 2,
"curveness": 0
}
1]
}
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{
"title": {
"text": "Graph {EERFI"
}
"tooltip": {},
"animationDurationUpdate": 1500,

"animationEasingUpdate": "quinticInOut",

"series": [{
"type": "graph”,
"layout”: "none”,
"symbolSize": 50,
"roam": true,
"label": {

"show": true
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}

}]

?.

’edgeSymboI": ["circle", "arrow"],
"edgeSymbolSize": [4, 10],

"edgelabel”: {
"fontSize": 20

}I

"data": [{

"name": "x1=5;x2=x1-3;x2<37?",
"x": 400,
"y
A
"name": "y1=x2*2;w1=y1",
"x": 300,
"y": 100
5 A
"name": "y2=x2-3",
"x": 500,
"y":100
5 A
"name": "w2=x2-y?;z1=x2+y?",
"x": 400,
"y": 200
1,
"links": [{
"source": "x1=5;x2=x1-3;x2<3?",
"target": "y1=x2*2;w1=y1"
5 A
"source": "x1=5;x2=x1-3;x2<3?",
"target”: "y2=x2-3"
5 A
"source": "y1=x2*2;w1=y1",
"target": "w2=x2-y?;z1=x2+y?"
5 A
"source": "y2=x2-3",

"target”: "w2=x2-y?;z1=x2+y?"

1,

"lineStyle": {
"opacity": 0.9,
"width": 2,
"curveness": 0

}
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@ (Phi) function.

y3 = @(y1y2)
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"title": {
"text": "Graph {EERRF"
}
"tooltip™: {},
"animationDurationUpdate": 1500,
"animationEasingUpdate": "quinticinOut",
"series": [{
"type": "graph”,
"layout”: "none”,
"symbolSize": 50,
"roam": true,
"label": {

"show": true
}

edgeSymbol": ["circle", "arrow"],
"edgeSymbolSize": [4, 10],
"edgelabel”: {

"fontSize": 20
}

"data": [{
"name": "x1=5;x2=x1-3;x2<37?",
"x": 400,
||yII:
1A
"name": "y1=x2*2;w1=y1",
"x": 300,
100

y"

b
"name": "y2=x2-3",
"x": 500,

100

lly":
3 A
"name": "y3 = O(y1,y2);w2=x2-y3;z1=x2+y3",
"x": 400,
"y": 200
1,
"links": [{
"source": "x1=5;x2=x1-3;x2<3?",
"target": "y1=x2*2;w1=y1"
3 A
"source": "x1=5;x2=x1-3;x2<37",
"target": "y2=x2-3"
3 A
"source": "y1=x2*2;w1=y1",
"target”: "y3 = O(y1,y2),w2=x2-y3;z1=x2+y3"
3 A
"source": "y2=x2-3",
"target": "y3 = ®(y1,y2),w2=x2-y3;z1=x2+y3"
3,
"lineStyle": {
"opacity": 0.9,
"width": 2,
"curveness": 0
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}
1]
}
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